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main(){

printf("This is my first program.\n");
}
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printf("He said, \"I love you.\".");

00oo\oooooo

10



gooooo

0000000000000 00O00UooOod (hello.c)
oo00oo0oo0(()OooOooOOO0oOo0OO00OO0DoOLO0O0OD0OO0D0ODOODDOOOUOOO0OODOO
ooogo

kokokkkkokokk

* HELLO =*
sokoskok sk ok ok koK

5.3 Uoogn

gboooobooobooobooboobobooobooboooooooboboooooOoboooboboDobo
booobooboboobooooooobobooboooboooobooooobooooooboooo
oboooooooooooo

Oo00o00oDoOoOo00ooooboOoOooooooooDobochooOog-32768004327670D0O0OOOOO
oobooooobobo0c21000000booogoooobooooooboboobooooooDo
00o0o0o0oo0ooooooooooooooooooUooooUoooooooo(oo)ooo
oo0ooo0ooUoooooUooo(woosoUooUoUUoooOoO0ooU0oUUooUoLUOooUoO
ooooo

gooooooooooboooooodoooUoOopoooboOooooggooooboDooobooboocC
OO0O0OO0intab,e; 00000000 c0000D0OO0O00O0O0DOOOODODOOOOOO0OOODDOOO
{000o0o000oooooooo

oboobooooooboboooboooon

ooogoo oo O0a0000
a=3; 00 (0D0aD030000) 3
a=3+5; ogd 8
a=>5-3; gd 2
a=5%3; oo 15
a=15/3; o0 5
a=16%3; gobood 1
b=3; a=h+3; 6
a=3; a=a+3; 6

UbobddbD=0000a0000000000000000O000D0O00O0O000DOO0OOOGOODOO
00o0o0o0ooUoo0ooUoo0o0()oooooUoooOooUoLoUoUOooOoooO
OO000DOOoO000oOo0ooDoOboo00Opintf00000DOCOOODODODO

[DDDDprintf("%d",a); alO0O0OO0OOO0OO0OO0OODOOO J

%0000000000000000000000D000dD 1000000000000 OprintfO00O0O
00000000%0d00000000000000000%4d000000004000000000
obooobooboooooboooooooa

11



a0 | %d %4d

12 12 12
123 123 123
1234 | 1234 | 1234

ooog
0000000000000 000000 (printf.c)
O #include <stdio.h>

main(){
int x,y;

x=3;y=5;

printf ("x+y=%d x-y=%d \n",x+y,x-y);
}
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x+y=8 x-y=-2
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5.4 00000 (scanf)
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#include <stdio.h>

main(){
int x,y;

printf("x = ") ;scanf ("%d",&x);

printf("y = ") ;scanf ("%d",&y);

printf ("x+y=%d, x-y=%d, x*xy=4d, x/y=%d\n",x+y,x-y,x*y,xX/y);
¥

scanf0 000000000 CO0DOCOO0DOCO0O000C0O0O0 scanf000 printf000000OOO0O
goobooooooboobooboooogoobo
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0 O (heikin3.c)

x=100

y=300

z=200
average=20

5.5 0000 (if)

gbopoooooobobbobobbooobobooobobooboboobobobobboood
Ubboo0odbO0OyesUOOnoO0O0O0OO0OO0OO0OO0OO0OOOODOOODOOODOODOODOOOOOOO

[DDif (0o O; ooobooboobogoon j

obooooOoooooooobooboooon

[DDif (OO)YODO; else O; gbooooobooooooooooogooooon J

ubooobooboboooobooooobooboooooooboobooooobooboooooobooooo
0ooo{}0000o0ooooooooo

x<5 oooosboooogn x==b [0O0O00s500000

x!=5 gbobogosbooboon x<=5 0J0O00s000000000
(x==3) || (x==b) gbo300bgdsbogood

(x>6) && (y<3) gosOoooobooooos3goooog

00000000200000000000003000000000000000000002000
0000000000000 00000000x0y0z000000000 Ox==y==-0000000
(x==y) && (y==2) 00000000000

oooo
DDDDEIDDDDDDDDDDDDDDD(hantei.C)
#include <stdio.h>

main(){
int h,w;

printf("Height (cm) = ");scanf("%d",&h);
printf("Weight (Kg) = ");scanf("%d",&w);

if ((h-100)%0.9>w) printf("You are smart!\n");
else printf("You are too heavy!\n");

13



gooooo

1. 0000000000000 0 1700100000000 0Iloveyou.00O00D0O0OOO0OO0DOO
0000000000000 000000000O (2kou.c)

Height=1770 Height=1500 Height=1900
Income=15000 Income=20000 Income=6000
I love you. Bye bye, you are too small.[ Bye bye, you must work hard.

2.30000000000000000O0L0O0O0OODO0ODOO0DO0O000O (max3.c)

A=50 A=70 A=70 A=80
B=60 B=30 B=120 B=50
c=70 c=40 c=801 c=801
Max=7 [ Max=7 Max=12 Max=8

56 0000000 (DOO)

gogbboodooobooooooboboboobooboobOoboobobobobOobOoboboobon
ubooobooooboobooooooo

A
B B C B N
B
Yes
D
C . .
if (A) B; if (A) B; else C; |
C

A; B; C; for (A;B;C) Dy

cooocolgoooloooooooobooooooboboooooopbpooooooDoOooo
gooooboboboobobo1lgilgpoobooooobbobobobooobooooooobooboo
gao

5.7 forO

for00 COOOODOODOOOO0OOOOOODOOOOOOOODOODOOOOOOODOOOOOODO
ooooooooobo

14



[ OO0for (O ;0 ;0 )0 ; ooooboooooo J

OO0o0oO0OoO00oO000OoOooooooooootfr000000OO0O0OoOoOooooOoKOOOOooOod
goboooboooooooobooooboooboobboooooooobobbooboooOooOoooboobooon
for00D0O00O0DOOO0OO0O00O0OO0OOOOOOOOODOOOOOOO0O0O0OOODOOODODODODOOODODO

000 for (i=0;i<100;i++) printf("%d\n",i);

000i++000000000000000000DOiOD000 10D0DDOOD0O0cCoO0ogoooooog
1i000000ooOooooooogooo:iooolo00bbooooo0obOooooOoicgonoiooonoo
00dooooooooooooooDmiooodo0oooooooooDi0ooD1000oooooog
oooooooooooooooo

000000000000000000000000{}000000000000000000 HaHaHa
OCyaCyaCya0OODOOOOO1000000000DOO HaHaHaO 10000000000 CyaCyaCya
O00000Doooo00o0oo00oDo000DoOo00DoOO000oOoO00oDoODoOo0oooOoOOoOoDoOOg
oooogooooo D[][JIIHII+IID[][]D ooobooooooooo

for (i=0;i<5;i++) { for (i=0;i<5;i++)
printf ("HaHaHa\n") ; printf ("HaHaHa\n") ;
printf ("CyaCyaCya\n") ; printf ("CyaCyaCya\n") ;
¥
goo
HaHaHa HaHaHa
CyaCyaCya HaHaHa
HaHaHa HaHaHa
CyaCyaCya HaHaHa
HaHaHa HaHaHa
CyaCyaCya CyaCyaCya
HaHaHa
CyaCyaCya
HaHaHa
CyaCyaCya
good

booooboooobobooboobooooooboobobOoboooboOobOoboOooobooOoDno
00000000000 fr0000D0O0O00OOCDOODfr000 cat0DOOODOOOOODOODODOO
000000000000 0000000000000000DUOO0O0Od (for.c)

[ #include <stdio.h>

main(){
int i;

for (i=1;i<10;i++) printf("%d %d %d\n",i,i*i,i*i*i);
for (i=0;i<200;i++) printf("cat ");
}
ooodoao

1. 0000000500000 200000000000000fcr0000O00O0COO0OOOOO
(tanuki.c)



00

(0.0)
=( X ):

Uuvgu

2. for00000000000000O00OO0O0O0U0OOLDDO00O0UOO0O00Dd (kuku.c)

Ut

*%% The Multiplication Table **x*

1 2 3 4 5 6 7 8 9

2 4 6 8 10 12 14 16 18
g gd

9 18 27 36 45 54 63 72 81

.0000000000000000D00000DD0O00O0D 0D 00O UDOooDO% D DoooOoo
0000000 (box.c)

Size=501
eO0eO0 e
Oe0O @O0
e0eO0 @
Oe0Oeo0
eO0eO0 @

.oooboboboboo0oboboboob0oob oo 0ob0DobDboOoUoboobOoboOobOo1bobo
0 O (ring.c)

Size=50

AR
O00e
O00e
O00Oe

.go00ooooooooooaoo |:||:||:||]|:||:|D|:||:||:||]D|:||:|DDDDDDDDD(3kak11.c|:|3kakua.c|:|
3kakub.cO 3kakuc.c)

Size=801 Size=70 Size=601 Size=501
X 0 xxxxxxx 0O x0 XXXXX
XX 0 xxxxxx O xx [ XXXX
XXX 0 xxxxx O xxx [ XXX
XXXX 0 xxxx O xxxx 0 XX
XXXXX 0 xxx O xxxxx X
XXXXXX 0 xx O xxxxxx [

XXXXXXX Ox

XXXXXXXX
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5.8 000 (1)

gboobOobobooobooboboooobooobbOoooobobooooooboboOoooOoooo
obooooOoboooobOobooooobOoboooOoobooooooboooboooobooooooboooboon
goooooboooooboobooboooooboobooobobobbobbooobobooooboboboo
boooboobooobooooboooobobobouooobobooooooboooobOoboooobo
ubooobOobooobog

ooooOooooooOoOooOooOooDbDOoO0oDOOoOoOobOO0bDOooDOo0frdbbo0oboOoOooOOoOO
goooooooobogooboooboobooobooboooooooob1booboooboobbooooboo
googg

#include <stdio.h>
ooao

main() {
int i,n,s; N =50
printf ("N = ") ;scanf ("%d",&n);
s=0;
for (i=1;i<=n;i++) s=s+i; N =100
printf("Sum = %d\n",s); Sum = 55

goboodgno

1. 0000 )0000000000000000 n!=1%2%3%_*(n-1)*n 000 O (kaijo.c)

N=50
N'=120

2.100200000000000000000000 A0 (kisuwa.c)

N=150
Kisuwa=64
oo0oood

1. nC’,,(nDEIDDEIrDDDDDDDDDDDDD:nC’r:#TE)!M)DDDDDDDDDDDDDDD
0000000 fr0 10000000000 (ner.c)

N=50
R=30
nCr=10

2.1 00 0000000000000 0O000OO0OOOO0O0OO0O0OO0ferO010000DO00O00OO
0 O (kisuwaa.c)

N=150
1+3+5+7+9+11+13+15=64

17



5.9 while
for00 000000000000 DO0O00O0000O000O000O0DO00O0O00O00O0O0O0O0O0OO

—

A
s
No
while (A) B; do A; while (B);
== for (;A;) B;

OO0O0OwhileDOOOOOOOODOOODOOOKODODDOODOODODODOOOOODODOODODUOOODO
00000o0oKOODOOOO0oOOoUooouooouoooUfer(;0;) 0;00000000000

O0OwhileDOOOQOOOOOOQOOOOOOOOOOOOOOODODOOKODODOODOOODOOO
coooooDooKODOODOOOOOODOOODODOOOwhileDODOOOOOOOOOODODOOOO
whileOODOOOOO0OOOOODOOO0OD0OO0O00O0O0whileODODOOOODOOOOOOOODOOOODOO

gooooo

gooooo
1.00000000000000000000DO0D00O0O0UO (gedc)

x,yO OO

V < yX X « Xy

i |

2. 000000000000000020000000003000 100000000 OO0O00OOO
g010000o00ooooooooco0oboooooooooooooobooooooooonoo
(test231.c)

50
16

18



LI I I ]
nn nn
= N B 00

gooood
1. 000000000000 000000 (lem.c)

X=120
Y=150
L.C.M.=60

2.00000000O00O00DOO020000000003000100000000O0000O0OOAO
o0l1o0o0boooooboobooooboobooboooooboooooobooboooooboooboon
00000000000 0000000000000000 O (test231n.c)

d
6

O W N
=N o

5.10 000 (2)

oooooobooO0oOooOoooooOOOoO0oooooboOoOobODbODOOOOOoOOoDOObO0OO00nan for
obooooooooooobooboooooobobooooboobobooooobooboooooooooo
goooooobooobooobobooooobooooooog

#include <stdio.h>

main(){ oog
int i,m;
Data = 5[
m=0; Data = 30
do { Data = 100
printf("Data = ");scanf("%d",&1i); Data = 00
if (i>m) m=i; Max = 10

} while (i>0);
printf("Max = %d\n",m);

goooon
1. 0000000b00ooooooooon

2. 0000000000000 00O0O00O0O0000COO00O0OOOOOODDOO0OOODOOUODOODOO
00000 0O (heikin.c)

Data=200

Data=300

Data=100

Data=400

Data=0[] goooooooooon
Mean=250 000 (20+30+10+40) /40

19



gooooo

1. 0000000000000000000000000000000000000000O000O0O0O
DDDDDDDDDDDDDODDDDDDDDDD(mminLC)
Data=20 [
Data=300
Data=100
Data=400

Data=0[]
Min =10

2. 0000000000000000OO0O0OOOOOOOOOOOOOOOObOOOObOOOo0DOOOn
0000000000000 000000000000000bO b OO0 000000 OoOooOoOoa
0 O (mmin2.c)

Data=200 Data=00
Data=30 [ No Minimum
Data=-100

Data=40 [

Data=0[]
Min =-10

5.11 0000

00000000000 000000000000000O000/*0 */0000000000 breakd
oooooooooon

5.12 breakl

break 0000000000000 (for00whileDO)000O0D0O0000D0O0O0ODOODOOOOO
0000000000000 000O0000O0O0O00OO0O00O0O000000beak0DOOODOO
obooooooboooooooobooono

/* o0o0DOoOo0oDOoDOOdsx/

#include <stdio.h>

main(){
int i,s; /#0i000000000s0000000O0DO0DOO000O000 %/
printf("?=");scanf ("%d",&s);
for (i=2;i<s;i++) /¥ 200 s-100000000000 */
if ((s%i)==0) /000s04i0000000000O */
break; /x forOOOOOO */
if (i==s) printf("%d0000000\n",s); /+ forO00O00O0O0DOODOODOO i==s00000O*/
else printf("}d00000000O%A00000\n",s,i);
¥
ooodoao

100000 00000000000000000(s1000.¢)

2 3 5 T 11 13 17
73 79 83 89 97 101 103
179 181 191 193 197 199 211

20



gooooo

1. 0000000000000 0000000O0OO (bunkail.c)

N=1200
120=2%2%2%3%5

2.00000000000000000000000 (bunkai2.c)

N=1200
120=2"3%3"1x5"1

5.13 00O

000D0000000000000000000000000000000000000000000
000000000000 Oint a[10); 0000 Oal0]0a[l]0a2]0... a[9)0000000 10000000
oooooo

0000[]00000000000000000000000000000000000000000
0000000000 Oscanf("%d",éx); 000000 x0000000000 Oscanf("%d",&alil);
00D0i00D00000a00000000000i0009000a[9)0000000000000000
0000000000000i00000000000000000(]000000000000000
000000000000000000000000000000000

0000000000000000000000000000000000000000000000
000100scanf()0000000000000D0000O00OO0

#include <stdio.h>

main(){
int i,n,datal[100];

printf ("How many data? = ");scanf("%d",&n); /* 00000000 0O0O0O =%/

for (i=0;i<n;i++) { /¥ 00000000000 =/
printf("data=") ;scanf ("%d",&datal[i]);

¥

for (i=n-1;i>=0;i--) /* ODO000O00O000000 *x/

printf (" %d",datali]);
printf ("\n");

}

How many data? = 40

data=10 10 datalo] OO O

data=20 20 datal1]1 000

data=30 30 datal[2] 000

data=40 40 datal[3]1 00O
4 321

i--0i++0000000000:00001000000

gobogn

oo0ooooooooooooooooooboboboboobooooooboooOooooooooooono
00000000 (reverse.c)

21



data=50
data=80
data=90
data=00
985

goboodgno

000d0do0oooOoooooooo0ooooo0od00 1000000000 oooOooooooog
ood0OOOOO0OO0OO0O0000000O0oOoOoObOObOOOO00000o0o0ooDoboooOoobOoOoDoOooOoa
000000 (variance.c)

data=100

data=300

data=200

data=40 [

data=00
Mean=25 Variance=125

5.14 0OO0OOOO

cOoodooOoU00oo0oU0OoUoUoDoUU0OooUDOOODO0OOOOODO0OOOOU0ODOOD1O00
0000000000000 02000000(Single quote)l0D00O00O0D0OOODOOOODOOOO
0000000000000 0000000000”abc”"000000 " (Double quote)D000OO00
000o0oooooo»””00b00b00b0o0ob000o0o0oooooboOO’ have apen.”d 10000
gogo

O0O000b00O0ODO0O0O0bO0oDOO00O00O00O0D0ODO0000wt0000O0charDODODODOO
oobooooblgoobilobboobboooboobboooobUooobbOoooDbooUobobooo
00o00o0o0oo0o0oO0oo 100000000 ooooooUooUooo\C(Do0oD)oooooDo
000 char word[30; 000000000 wordOOOODOO0OOOOObat”’"0 00000000000
word[0] 0 O ’'b’Oword[1]0 0 ’a’0Oword[2]0 O ¢’Oword[3]00°\0’OD 00000

word | (0] T T2 T3] Tia) |- |29
o b a7 | \O” | ? |7

000000000000000100000000000000000000000 word[0]="h"; O
O0000OwordOO0DDOOO0OD0hat”00000000D0OOC0OO0O0OODOOCODDO0000O0O0DO
uboooboobooobooboooobooo

#include <stdio.h>

main(){

int i,Len;

char word[30]; /* O003000000000000 */

printf("Word = ") ;scanf ("%s",word); /* 000000000%s0000&O0 [ 1000 %/

for (Len=0;word[Len]!=’\0’;Len++) ; /¥ O00Len000000O0O0O0OOOODOO */

printf("Word Length=%d\n",Len);

for (i=Len-1;i>=0;i--) /« 0000000000 */
printf ("%c" ,word[i]) ; /¥ O000000000% 0000 */

printf ("\n");

22



Word = computer [
Word Length=8
retupmoc

0000 scanf()0 printf() D00 %d0000000000000000%s000000%c00000
booobooboobooooboooboooobobooooon

ooo ooo oooad

00 | int n; char ¢; char s[80];

00 | scanf("%d",&n); | scanf("%c",&c); | scanf("%s",s);
00 | printf("%d",n); | printf("%c",c); | printf("%s",s);
OO0 | n=10; c="x’; oo

goboodgno

1. 00000000000 (aDe0i0Do0w) 0000000000 0DODDO0OOOOO (vowels.c)

Word=computer U
There are 3 vowels in ’computer’.

Word=big U
There is a vowel in ’big’.

2.0000000000O0300000000000000OO0O0O0O0O0OODOODOOOODOOOn
000000003 000000000000(fer0 0100000 )(cut3.c)

String=personal [
head=per, body=sonal

. 00b00oooooooboobooboobooboomuoboooobobobooooooooboooon
0000000000000 O (getword.c)

Sentence = I have a book[U

Word = 1
Word = have
Word = a
Word = book

5.15 0OOOOOOOO

CO0O000D0000000000000000000000000000s0t00000000 char
s[100],t[100;000000000000000

O gets(s) sdO00o0Ooooo1booooooobooon
OO puts(s) sOO0o0oooooooooon
00 strcat(s,t) sO0000000DOOOO0O0+«+00DOOOOODOOOOOODOOO
OO0 stremp(s,t) sO00000O0O0O0O0t0O00000DOO0O00OODOODOO0OODOODOOOOOO
0000 stremp("abe","def") - OD0O0OO0O stremp("abe","abe") - OO
0000 stremp("def","abc") - O0O0O
OO0 strepy(s,t) tO0000000D0DOO0sOO00OODODODO
00 strlen(s) sObdbooooooooogbooboao
strstr(s,t) sO000+«+0000D00OO0ODOOOOOODOOONLLOODOOOO



CO00000D000000D00000O000s="abe”; 000000000000 strepy(s,”abe”);0
O0000Ogets()Oscanf() 0000000000000 ODOOOOO0O0O0OOgets()ODO0ODODDOODOOO
000000000 Oscanf() 000000000000 ODODODOOOO Oputs(s)d Oprintf ("%s\n",s)
oooooooon

000000000000 gets()Uputs() 000000000000 00000000 #include <string.h>
oooooo

obooobOoboooobobobobooboooo

#include <stdio.h>
#include <string.h>

main(){
char word[20],sentence[80];

printf("Sentence = ") ;gets(sentence);
printf("Sentence Length = %d\n",strlen(sentence));
strcpy(sentence,"") ;strcpy(word,"");
do {

strcat(sentence," ");

strcat(sentence,word) ;

printf ("Word = ");gets(word);
} while (strcmp(word,"end")!'!'=0);
puts(sentence);

}

Sentence = I love youl
Sentence Length = 10

Word = I0

Word = lovell
Word = youl
Word = end O

I love you

gobogn

1. 0000000000000 0000000yesO0OO0ODDO0O0ODOOOOO (search.c)

Sentence = I have a book. [
String = ool
yes

2.000000000000000O0ODO00O00D0U0ODO00O0O0DOO0OO (shortest.c)

Word=book [

Word=are [

Word=personal

Word=today U

Word=Z[] ~gbo0boozoooooooooooooo
The shortest word length is 3.
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5.16 000D

cidooOoooooooooooOoOoOoOOOOO0OO0OO0O0O0OOoOOoOoOoOoOoOoOOoOoOoOOooO
oboooooboobooooooboooooooooboooobooOobOoooOoobbooboooboooboooon
goooboooooboobooooooboooboboooooooooooooooOOoDbDOoDboobO
ooooboooo
bOoooobobooooobooooboooobOoooooobOboOobooooboobOooboooboOooo
ooboooobobooooooooboooboooobooooobooooboooOobooobooobobooooo
gooooooobooooboooobooooooboboboooobobbboooooboboooooboobooboo
oooobobobooogobooboooboooboobooooobooooboobooooobobooooo
boobOoobooboobobooobooboooobooooooobOOooooobOoOoboOoooooboooon
obooooono
gbooooobobooobooboboooobooboboobooboboooooobDoooooboobo
0000000000000 000000000000000000*X 0000000000000 char
*p;000000p0000000000O00O0OOUOOOOOOOOODOO
obOoobOoooopbOOOOO0OOO0OOODOOOOODOOODn

char *p;
p="abcdefg";

pO000007abedefg”0 0000000 (0D0)0OODDOO00O0OO printf000000O0OODOOO
googg

p="abcdefg";
printf ("0 000 =%s\n",p);

pP=p+3;

printf ("0 00 O =%s\n",p);

O00 printf 0000000 =abedefg0 00000000000 printf 000000 O=defgO OO0
goooooooooooooooooooooooooooogon

p="abcdefg";
printf ("0 0=Y%c, 30 00=%c\n",*p,*(p+3));

O0printf0000=a,3000=d0000000000 p="abedefg”; 0000 ”abedefg”0 0000
oooobooboobooo0oobOoooOoboOobOooooo0ooO0obOoobOgOoboobooboooDooo
goodoOdbO0o0OOo0d00o0oodbOooboOobDobooooobogoooo

char s[80],*p,*q;

strcpy(s,"abcdefg") ;

p=s;

q=4s[3];
printf("0000=Ys, 300000=%s\n",p,q);

obOoobobOboOoOoboO0obob0p=s0000000000DO00O0DOCDOOOOOODOOODOOO
q=&s[3]0000&O 0000300000000 O000O0O0O0OOODO0UDOO0OO0OOOO0OOOOO
gboooboboobooboooobooboon

#include <stdio.h>

main() {
char word[80],*p;

25



printf("Word = ") ;gets(s);
for (p=s;*p!=’\0’;p++)
printf ("Yc",*p);
p'lltS("");
}

0000000000 000o000oo0oUo0oUo0oo*XW0O000000O0DO0O0DU0O0OUo0OOo
gbooobOoboooooooooo
goooon

1. 00boooboboobooobooobooboobobooooooboooo

2. 0000000000O0DOO0ODOOO0DOOOODOODOOOOODOODOO0OOOODOO0ODbOO 20000
00000000 000000000000 0000000000000O0 (cut2.c)

String=personal [
head=pers, body=onal

5.17 switch[

ooooooOoooOoOoOobOoooooboO0ooboOomoo0ooooOoooboooOoofobooooo
oboooboobooobooboobooobodswitchDODOODOODOODODO

switch (O) {

case [ 0000 ; break;
case 0 : O0O0O0O; break;
default : OOOOO;

bboooooobooboooboooobooooooooobobobooboooobooboooboooboooboOooa
0000000 00000000000 0o0oo0y{}0000000000000000 breakOODO
obboobooboobooooobooomooobooooooobooboobooboooboboobobooboa
U0bobooo0oob0ooboooboooboOdetantDOO000OO0ODOO0OODOOOOODOOODOOOO
O00000000D00000defanlt0 000000000
gooood

obooooobobooobobOoooobooooobooboooobOoboooooboOoobooooOoonoo
oooooo(@Uoooo*xWOoUoo*WoO0o0o400000*WOO0DO*WOOOO)oTooOooo
uooobooooooo

e (UOIMODOOOOO01I03000000
e 1000 MODOODOOODOOOODOODOOO203000000
e 2000 ODODOODODOOODODO3DOO0OOD0

300o0moobaoog

4ia000mOoOOooooooobooon
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e 500N ODODOOODOODOODO40D0000O0

e 6U0IMODOOOOObSO04000000

000000000000 0000000000000000000D00000O00O0O (uranai.c)
ooooooogn = 19590
gboooooooo =10
gboooooooo =80
goooo = 19990
ooooo =e0
ooooo =100
goooi19990 ed1o0dnnnO

O ubooboboooobobod

go gboooooboooobod

oon gooooo

518 00OO0OOOOOOO (1)

cO00o0oOoooooooobobob0obO0o0o0oO0o0o0ooOo0oooDoDoOoooooOooooobooobool
0000000000000 0O0000000000000o000o

000000000000 main(){...}00000000000000000 main()00000O00O0O0O
0000000000000 DO tekitou()DODDODOO0ODO0D0O0O0D00O0 main()0000000O0O0O0OOO
tekitou(){

tekitou() O OO
¥

main(){
main() O OO
}

main()0 00 O tekitou()D 000000000 Otekitou(;0000000000000000000
000000000000 D00000000000000000000000000000000000
00000000000000000000 tekiton()J000D0000000000000000000
00000D000000000000000000000000000

tekiton()0 0000000000000 00000000D00D000000O0DOO00O00000O000
000000D0000000000000000000

tekitou(){
int i;
i=100;
¥

main() {

int i;

i=3;

tekitou() ;

printf ("i=j%d\n",i);
¥

000000 0Omain()00003000i1000000000 tekitou()DOODOOOI0 100000000
O0main()00000000000DO0O00O0O00=300000000000000000000O0OO
ooooo0oo0oooo(oo00oD)0o00o0U0o0oL (CoooUoo)oooooooo
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uooooboobooobooboboooobobooooboboooooobooboooboooooo
booobOoboobobobooooobooboobooooboooaon

int i; / O00000000DOO0O0O0DOO0OoOoO =/
tekitou(){

i=100; /x 00 i000000000O0OCODOOOOOOO =/
¥
main(){

i=3;

tekitou();

printf("i=%d\n",1);
¥

OOo0oD0OO0O0i=10000000000000000000mt;000000000000C0000A0 int
p0o00oboobooboo0oo0oooboobooo0ooboobobObOo0bOoooObOOobOoOb=30
oooboboooboobobooobooooooooboooon

int i; / 0000000000000000O00 x/
tekitou(){
int i; /* tekitou() O ODOOO00O0i00000 x/
i=100; /+ OOO0O0OOOi000000 */
}
main(){
i=3;
tekitou();

printf("i=%d\n",1);
}

goboobooboobobbobooboobobobooo

tekitou(int height){
if (height>170) printf("You are tall'\n");
by

main() {
tekitou(155);
tekitou(165);
tekitou(175);
tekitou(185);
¥

0000000000000 000 (()0D00mt0000000000000000000tekitou()O 0
0000000000000 O000O000O00DOO00000O0ODOO0O0ODOOoO0ODOOoOO0ODOOO0DOOoOOoDOon
0000000000000 0000DO00O000ODO00DODOO0ODOO0ODOODOOn 1550 heightd O
000000000 1650 height 00000000 0OD0OO040000 height DODOOOODOOODOODO 2
OYouaretalDOODODOODOOOODOO

gooooo
go0o0oOoOoOoOoOoOoOooOoOO0oOOOO0O0ObO0000000000OOUODOOOOOO0OOOO(oxl.c)

*x*x Tick-Tack-Toe Game ***
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| |
11213
[ I
___+___+___
| |
4 | 51| 6
I I
[ I
71819
| |
==> 10
| |
0| 21 3
[ I
| |
4 | 51| 6
I I
| |
71819
| |
==> 50
I I
0| 21 3
[ I
| |
4 | X | 6
I I
| |
71819
[ I

0000000000000 000bPan0 0000000000 DO0OO0O0OO0DOban[3]0000O0O0O
oo0o0000O0oooooooooOlgoooC-10g0Xooooooooooooooooooo
OoO0O00O0000DO00000000Dmain00000000DO0OCO00OO0O00O00OCO0O0O0ODO

#include <stdio.h>

main(){
int i,j,k,ban[10];

puts("\n **x Tick-Tack-Toe Game **x");

puts (" ver.1l Man - Man\n");
for (i=1;i<=9;i++) banl[i]=0; /* van[i]OO0OO0OOi0O0000 */
j=1; /* j00000000000000000 */
for (i=0;i<9;i++) {

do {

printf("==> ");scanf ("%d",&k);
} while ((k<1) || (k>9) || (ban[k]!=0));
ban[k]=j;
Jj==73;
printf ("\n | \n");
switch(ban[1]) {
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case -1 : printf(" X 1"
case O : printf(" 1 |"); break;
case 1 : printf(" 0 1";

¥

switch(ban[2]) {

case -1 : printf(" X |"); break;
case O : printf(" 2 [|"); break;
case 1 : printf(" 0 |");

}

switch(ban[3]) {
case -1 : printf(" X\n"); break;
case O : printf(" 3\n"); break;
case 1 : printf(" 0\n");

}

printf (" | \n");
printf(" -——+-———+4-—--\n") ;
printf (" | \n");

switch(ban[4]) {
case -1 : printf(" X 1"
case O : printf(" 4 |"); break;
case 1 : printf(" 0 1";

}

/* gogad */
printf (" | [\n\n") ;
}

0000000000000 000000000O0000000D00000000 input()d display()
oooooooooon

#include <stdio.h>

int ban[10]; /x 0009000010090 0000O0OO0O =/
input (int x){
ce /* input()O000000O0OD00OOCOOO */
}
displayO{
e /* displayO 00000000 OD0OO0O */
}
main(){
int 1i,j;
puts(" #**x Tick-Tack-Toe Game ***\n");
for (i=1;i<=9;i++) banl[il=0; /* 000000 DOCOO0ODO */
display(); /¥ ban[ 1000  =*/
j=1; /¥ jOoO00O0oooooooon */
for (i=0;i<9;i++) {
input(j); /* 0000000000000 O0oO =/
i=-3;
display(); /* ban[ 1000 */
}

display()UO00OOO0OOOO0OO0OO0O0OOO00OOOODOO0OO0O0OO0OODOOO0O0OOOOOOOOOOO
OO00000D0O0ODOO000oOOdisplay 00O for000000O0ODDOOOOODOOO
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519 000000000 (2)

o0000oooOo0oOoooooooooooooooooooogocooooooouoooog
obooooobobooboooboooobooooooboobooboobOOobobboooobobooooo
0000000000000 veldO0DO0OODOO(UOODOODOO0ODOO0ODOO0ODOOODOOOOD
ooooooooono)

000000000000 return(...; 00000000 ()O0ODOOO0OOODOOOO0ODOOUOOOOO
Oobo0Od0O0return000000O000O0O0O0O0O0OCOOOODOOOOODOODOODOODOOOOOO

int abs(int i){ /* absQOUOOOOOOOOOO */
if (i>=0) return (i); /* idoooooooooo */
else return (-i); /* i0d0000oooooooono *x/

3

main() {

printf("abs(3)=)d\n",abs(3));
printf("abs(-3)=%d\n",abs(-3));
}

cooooO00ooOo0o0oDboO0obOo0ooooooooboooooooDDoODOOn0bDOON! =
nx(n—1)x(n—2)%..x3x2x 10000000000 for 00000000000 DOOOOOOOOOO
uoooboobooobod

int fact(int n) {
if (n>1) return (n*fact(n-1));

else return (1);
¥
main(){
printf("6!=Yd\n",fact(6));
3

gbobooboooboobooboooooboboboooboobooonbo

goboodgno

l.200000or0o0ooooooooooo,, 0000000000 ooooooooo
goooooon

[ ] .rCI =
o ,Cy=1
L4 ncr —n-—1 Cr—1 +rn-1 Cr

00D0000000,C,000000 ner()00000 O (nerf.c)
000000000000 int ner(int n, int 0){000000000O
2.00000000000000we()0D000000O0OO0OOD0OOOODO0ODOOUOLOODOODOO

|:|DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDdisplay()DDDDDDDD
(0x2.¢)

DDDDDDXDDD(ODQ)DDDDDDDDDDDDDDDDDDDDD(’07|:|797)D|:|D|:|DD
return(’0’+x) 0000000
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5.20 00O

CO0dooDoOooDOoOooooooDOO00oo00oOoOoU0ooOoooOoUoooOoOonOoonj=1010
0000000000000 00000O000b000D0 j=k=10000000kO 1000000000
1000;0000000000004d

for00000000O0++0000000++10000000DO0O0DOOOOODODODOO0OOO100
JdddbObOoOO0oOO0O000o01ObbO0d0o000idddoDoD00o0o0oOooDooDoOOooDoDOoOoOoioOoa
ogoooo

DOW&Ti()DDDDDD IDDDODDDDDDDDDDDOWELI‘i()D 1000000000000 000
DDOW&I‘i()ZIlDDDDDDDDDODDUDDDDDDDDDDDDDDDDDDDDUDDDDDD
00000 if (owarl()==1) ...0if (owari()) ..0000000DO00OO

000000000000 if (banfl=1).. 00000000 0banl]=10 ban[l]0 0000000 1
DDDDDDDD...DDDDDDDDDDDDDDDDDDDDDDban[l]DDDDDDDDDDDDD
00000d0ooooooocoo0nooonooonooooooooooog

gooooo

0000000000000 000D0000000 (ox3.¢)

l.owari()00O0O00O0OOO0O0OO0DO0OOO0XOOOOO3000000000000O00O0OODOO
030000000 moooooooooooobo1ooooooXo3ooooooooooooDo
gbbooool1gbooooobs3boooobobooobbobooboobOoooong

2. main()00000000000000000Dowari()0000O00O0O0ODOOOODOODOOOOOO
gooooooooonbd

5.21 0OU

boobOobobooboobobooooboobooboooooobOoooooobOoOooboooooa
boobooooboobobooooobooboooooboobooooooooobOobooooooban
obooooboooboooobooboooooooboooboboooon

COOrand() 000000000 DODO0OOOrand()0000000O0OO21 0000000000
oboobooobooogobobooooboooboooooobobooooooooobooooo
gboboobOobooolgboebOO0ob0oOoOobOOoOobOOoOoOoOobOOob0oobobooooon

#include <stdio.h>
main(){
int 1i;

for (i=0;i<10;i++)
printf ("%d ", (rand()%6)+1); /* a % b D0albO00000000O0O0OO=*/
printf("\n");
¥

O0000Orand()0D00 600000000000 OODOS00000000O0OOIO0O0O0OOL10O0G6
000000000000 0000000O0000000D00000000rand()00O00O0OODOOODO
gooooooobooboobooobooooboobooooboobbooooooobooobOoobDoboobooboo
gbl1ob0e0000010000000000O00000O00DOO0OOOOOOOOOODOODOO
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0000000000000 rand() 0000000000000 00Osrand()000000O0O
booobOoboobooboooooobooooooooobOobobooobOOoboOooooboobooOoon
0000000000000000000000000000000000000000 getpid)0DOO
ooooooboooboooog

#include <stdio.h>

main(){
int 1i;

srand(getpid()); /+ 00000000000 srandO)O00000 %/
for (i=0;i<10;i++) printf("%d ", (rand()%6)+1);
printf("\n");

}

3252165612

32543234514

gooooo

0000000000000 000000000d (oxd.c)

1. 00000000000000000000000 wmern()D0000D00rand()00000O 100
9000000000000 000000000000000U0O0U0000000 main()0000
000000000 mput(j); 0000000000 wmern()00000OO0O0O

2. 00uwmern()0 0000000000000 00OO0OO0ODOOODO0OODOOOOOOOOOODOOO
gbooooobooobooobooobooooobooobooooooboobboOooboooboOobooboon
gooooon

3. 0000000000000000000000000 tomeru()000Otomern()0000O00O0O0O
00000000000 000000D10000000000U0main()000000O0 Utowmeru()
0000000000000 000wmern()000000O0O0O0OODO

goboogno

00000000000 rand()0D000000ODO0OOOOOOOOO

5.22 000O0O0OOODOOO (1)

gobobooboobOobobooboooobobobooboooobooboooobobobooobOobOoobooonn
oboooooboobooooboboboooobooooooooobooooooboooooooobooooo
ooooooooooboooboboooooboboooooboobobooooobobooboobooboo
bobooooobobooogobooboooooboooobobobooboboooobobobooooo
ooboooboooooboobobooobooboobooooooooooooooooooooobooooo
oooooon

ooooobooobobooooobooobo

1. fopen()UDODODOOOOODOO0OODOOODOOOOOOLOOOODOOOODOODOOOOIOOODOOO
gboooboooooobooooobooooobOobooboooooooooooOooobooboooboon
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00o0ooooo0oo0ooUooooo0oo(@oOo0o0oooUoo0oDo0ooooUoUooo
gooooooooooooooobooboboobooooooooobbooboboooboooboooon
00)OOoOoooOoooooOoooOooOoooOoooooooooo

2.0000000000000000fscanf() 000000000 Oscanf()0 0000000000
goobooooobooooobooobooboooobooobooboooo

3. 0000000000000 O0Ofdose()DO0DO0OOODO

O0o0b0000dataDO000ODOODODOOOOOODOOODODOOOOOO

#include <stdio.h>

main() {
FILE *fp; /* 0000000000 0000D0D0O000000O0ooOo0OO0gd */
int i;
fp=fopen("data","r"); /* 00000 (data)OJOODODO (x) */
fscanf (fp,"%d" ,&i); /* 00000000000 scanfOODOO =/
printf("Read Data is %d.\n",1i); /* doooooboboooooobooooa */
fclose(fp); /* O0000000D000O000000DODOO */
¥

0000000000000 000000Ofepen()00000000O00OO0ODOO0O Ufprintf()00
000000000000 fklese() 00000000000 0O0O00OODOO0O0O0ODdatadOOOO0O
ooooooboboboooo

#include <stdio.h>

main(){
FILE *fp;
int i;
fp=fopen("data","w"); /* 00000 (data)JODOODO (w) */
printf ("Number = ");scanf("%d",&i);

fprintf (fp,"%d\n",1i); /* 000 fHpO00O0000O0O0printfOQOO0O =/
fclose(fp);

O00o00oo0o00ooooooOoooboDoODODOO00O0o0DOO00OfopenD NULLOOODOOO
obooooOooboooooboooooboooooboobooooobooooooboobooonooo

goooon
1.0000001000000000000000000000 (count.c)
2. 00000000000000yes0000000Ono000000OD00O0OO0OOO (arn.c)

File Name = count.c
Yes

5.23 000000000 (2)

gooooooooooboobooooboooboooooobooooobooboooobooboooboo
ubtooooboooboobotboooboooboooooooobobooooboOoboOooooboooon
O0000O0ooo0Odfscanf()000000000ODOOO-100000000O00O0OOO0ODOOO0OOO
obooooooooooon
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#include <stdio.h>

main() {
FILE *fp;
char 1ine[80];

fp=fopen("test.c","r");
while (fscanf(fp,"%s",line)!=-1) puts(line);
fclose(fp);

00000000 10000000000000fgets0 0000000 O0DODOOODODOOODODOODOO
000ooo0oo0o0ooooooOo0oooooNULLOOOOOO00oO0oooOooooooooooooooa
O\n’0000000000000
#include <stdio.h>
main(){

FILE *fp;

char 1ine[80];

fp=fopen("test.c","r");

while (fgets(line,80,fp)!=NULL) printf("%s",line); /* 800000000 =*/
fclose(fp);

0000000000000 000oU0oUoo000OOfopen()UOO”wOOOOD0R 00000
ooooooooooooOo0oOobooooOobOOoOooOOoOooooOobobooooOoDOoOoOooDoO"w’'DOO
gooooobooobobobooobooboooobobooooDo

gooooo

1. 0000000000000 00000D00000O (linec)

File Name = test.cl
There are 5 lines.

2. 000000000000 S50000000000DO0000OO0O0O0O0OOOOSDOO0OO000DOOO
0000000000000 00000000 (head.c)

. 000000o0ooooosoonooooooobooobooooboboooso0ooooooon
0000000000000 00000000000000000000000 (taile)

5.24 0O0OUOOOOOOOOO

cO000oooooooooOoooooo0o00oooD UnixOOOOOOOOOOOOOOOOOOO
000000000o000o00o(U0bOU0U00d0D0«out00O00OO0O0OOO0ODOODODOOD
00000)00o00000o00oo0ooO000000000O00LObOO0OO0OODOUOOOODDOOOO
U0 md0OO0O0000O0O0O0OOOOOOODOOODOOOOOOOOOOOO

[miwako]%rm aaal



O00000DmO000000 aaa0000000000OOCOOOO0OOOODOODOODDOODOO
00000000000000 main(){00 000 main(int arge, char *argv[){0 0000000 O arge
ODargv0 0000000000000 00O0O0O00O0OO0O0UO0O0O0OO0O0O0O0D main()0O00OODO
argc 0000004100000 0argv[1]0100000000argv[2]020000000000000
goboooobobobobooboboo

#include <stdio.h>

main(int argc, char *argv[]){
int i;

for (i=1;i<argc;i++) printf("O0O0O0O = %s\n",argv[il);
3

oboooOooooooooboobooobogon

[miwako]%a.out a b ¢
oooo
oooo
oooo

a
b
c

gbooood

good

l.argv[0] 0000000000000 OOO0O0ODO0O0O0O0O0OO0OO0OOOOOOOOOO

gobogn

1. 0000000000000 0000C00000O00O0O00O0000O0000O000O00O0O0O0O0O000O
00000 (linec.c)

[miwako]l%a.out test.cO
There are 5 lines.
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